SWR-ML HZRRIZFREER

IS ([ K@SMEK
2= SWR0010 SWRO0030 SWR\=(001 0 SWR0070 SWR0120 SWR0250
M3X0.5X16
ANARERT N M3X0.5X 18 M3X0.5X18 M3%0.5%25 M4x0.7 X 25 M5 % 0.8 X30
a [5Eki812]
B ] 3 4 3 4 4 4
IR KE mm 4.1 46 4.1 6 6.5 9
5] 1) SUS # R CBSST3-16 SCB3-18 SCB3-18 SCB3-25 SCB4-25 SCB5-30
KEKEY 5] 2) SUS # R - CSHHA-SUS-M3-18 | CSHHA-SUS-M3-18 | CSHHA-SUS-M3-25 | CSHHA-SUS-M4-25 | CSHHA-SUS-M5-30
BEsEX |5 3) SCM #4fR CBS3-16 CB3-18 CB3-18 CB3-25 CB4-25 CB5-30
% 4) SCM #4/5R - CSHHA-ST-M3-18 | CSHHA-ST-M3-18 | CSHHA-ST-M3-25 | CSHHA-ST-M4-25 | CSHHA-ST-M5-30

X1, EIBRMRE - £/ R - BRESHENHSE,

il SWR0500 SWR0750 SWR1200 SWR2300 SWRY 0135
WA FIER R M6 % 35 M6 % 35 M8X 40 M10X55 M4x0.7 X35
HE 4 6 6 6 8
IEARZE KT mm 105 8.2 10.5 155 6.5
B 1) SUS # & SCB6-35 SCB6-35 SCB8-40 SCB10-55 SCB4-35
KEKEY | H]2)SUSH#BE | CSHHB-SUS-M6-35 | CSHHB-SUS-M6-35 - - CSHHA-SUS-M4-35
REAANHIER S ~
EREGRE RES 1 3) SCM #1/5= CB6-35 CB6-35 CB8-40 CB10-55 CB4-35
B 4) SCM # B | CSHHA-ST-M6-35 | CSHHA-ST-M6-35 - - CSHHA-ST-M4-35

#1. BIERMERE - £7T R - BRBESENHSE,

http://www.kosmek.co.jp/chinese/
B ¥ SSL-SWR026-01-C1N 1ERL 2021.05.18 F# -

@ WAXKAR. BBITES.
® EREFEEN TN ALRNMGHTES. 1/1




